
izkn”kZ iz”ui= &I 

fo’k; & jlk;u “kkL= ¼202½ 
Subject – Chemistry 

Lke; & 3 ?k.Vs          iw.kkZad & 70 

Time – 3 hours            M.M. - 70 

funsZ”k % ¼1½ lHkh iz”u vfuok;Z gSA 

Instructions : (1) All Questions are compulsory. 

¼2½ iz”u Ø- 1 ls 5 rd vfry?kqmÙkjh; iz”u gSA izR;sd ij 1 vad vkcafVr gSA iz”u dk 

mÙkj 1 “kCn vFkok 1 okD; esa nhft,A  

(2) Question No. (1) to (5) are very short answer type questions. Each question 

carries 1 mark. Answer should be given wordone  or 1 sentence. 

¼3½ iz”u Ø- 6 ls 10 rd izR;sd ij 2 vad vkcafVr gSA ¼”kCn lhek 30 “kCn½ 

(3) Question No. (6) to (10) carry 2 marks each. (word limit 30 words)  

¼4½ iz”u Ø 11 ls 22 rd izR;sd iz”u ij 3 vad vkcafVr gSA ¼”kCn lhek 50 “kCn½ 

(4) Question No. (11) to (22) carry 3marks each. (word limit 50 words)  

¼5½ iz”u Ø 23 ij 4 vad vkcafVr gSA ¼”kCn lhek 70 “kCn½ 

(5) Question No. 23 carries 4 marks. (word limit 70 words)  

¼6½ iz”u Ø 24 ls 26 rd izR;sd iz”u ij 5 vad vkcafVr gSA ¼”kCn lhek 100 “kCn½ 

(6) Question No. 24 to 26 carry 5 marks each. (word limit 100 words)  
 

Ikz”u %  ¼1½ ty ds lkFk QsaVh xbZ v.Ms dh lQsnh fdl izdkj dk dksykW;M gSA   ¼1½ 

Ques. :  (1) Egg white beaten with water forms which type of collide? 

Ikz”u %  ¼2½ ,FkkWDlh casthu dh lajpuk crkb,A       ¼1½ 

Ques. :  (2) Drow the structure of ethoxy benzene 

Ikz”u %  ¼3½ MkbZDyksjks ehFksu ds vk¡[kksa ds lh/ks lEidZ esa vkus ij D;k izHkko iM+rk gS \  ¼1½ 

Ques. :  (3) How will it effect our eyes when it comes in direct contact with 
dichloromethane 

Ikz”u %  ¼4½ jDr ds Ldanu ds fy, dkSu lk foVkfeu mÙkjnk;h gS \    ¼1½ 

Ques. :  (4) Which vitamin is responsible for the congulation of blood ? 

Ikz”u %  ¼5½ fluseSfYMgkbM dk IUPAC uke fyf[k,A      ¼1½ 

Ques. :  (5) Write IUPAC name of Cinnemaldehyde 

Ikz”u %  ¼6½ fuEufyf[kr dks c<+rh {kkjh;rk ds Øe esa fyf[k,A     ¼2½ 



 C2H5NH2 , (C2H5)3N , C6H5NH2 , (C2H5)2NH 

Ques. :  (6) Arrange the following on increasing order of basicity 

 C2H5NH2 , (C2H5)3N , C6H5NH2 , (C2H5)2NH 

Ikz”u %  ¼7½ D;k dkj.k gS rkiØe esa of̀) ls xSl nzo esa de foys; gksrh gSA   ¼2½ 

Ques. :  (7) What is the reason that gases are less soluble in liquid when temperature is 

raised ? 

Ikz”u %  ¼8½ Dyksjhu ds nks vkWDlh vEyks ds uke o lw= fyf[k,A      ¼2½ 

Ques. :  (8) Write the names and formulas of two oxy acids of chlorene 

Ikz”u %  ¼9½ ,d f}rh; dksVh dh vfHkfØ;k ds fy, vfHkdkjd dh lkanzrk nqxquh dj nsus ij 

vfHkfØ;k dk osx fdl izdkj izHkkfor gksxkA      ¼2½ 

Ques. :  (9) What is the effective on the rate of reaction when the concentration of the 

reactants is double for a second order of reaction. 

Ikz”u %  ¼10½ ,fuyhfu;e vk;u ,fuyhu ls de LFkk;h gksrk gS D;ksa \   ¼2½ 

Ques. :  (10) Why Anilinium ion is less stable than Aniline ?  

Ikz”u %  ¼11½ (i) lEidZ ¼laLi”kZ½ izØe }kjk H2SO4 dh ek=k esa o`f) djus ds fy, vko”;d 

ifjfLFkfr;ksa dks fyf[k,A          ¼3½ 

 (ii) H2SO4ds nks mi;ksx fyf[k,A 

Ques. :  (11) (i) Write the conditions is required to increase the mass of H2SO4 by the 

contact process 

 (ii) Write any two uses of H2SO4 

Ikz”u %  ¼12½ laf{kIr fVIi.kh fyf[k, &         ¼3½ 

 (i) 15 os lewg ds gkbMªkbM dk LFkkf;Ro   

 (ii) lYQj ds vij:i 

Ques. :  (12) Write short notes  

 (i) stability of hydrides of 15th group 

 (ii) Allotropes of sulpher  

 

Ikz”u %  ¼13½ D-Glucose ds pentaacetate esa vki ,sfYMgkbM lewg dh vuqifLFkfr dks dSls 

le>k,xs \           ¼3½ 



Ques. :  (13) How do you explain the absence of aldehyde group in the pent a acetate of  

D-Glucose    

Ikz”u %  ¼14½ fuEu cgqydksa ds ,dydksa dk uke vkSj lajpuk fyf[k,A    ¼3½ 

¼i½ uk;ykWu 66 

¼ii½ MsØkWu 

Ques. :  (14) Write the names and structure of the monomers of the following polymins   

 ¼i½ Nylon – 66  

  ¼ii½ Dacron  

Ikz”u %  ¼15½ la”ysf’kr viektZ dks ds fdUgh rhu izdkjksa dks mnkgj.k lfgr le>kb,A  ¼3½ 

Ques. : (15) Explain any three types of synthetic detergents with example 
 

Ikz”u %  ¼16½ /kukRed rFkk _.kkRed fopyu okys foy;uksa esa dksbZ rhu varj fyf[k,A  ¼3½ 

Ques. :  (16) Write any three differences between positive and negative deviation solution 
 

Ikz”u %  ¼17½ ,syqfefu;e ds fu’kZ.k ds fy, oS|qr vi?kVuh lsy dk ukekafdr fp= cukb,A ¼3½ 

Ques. : (17) Draw the labeled diagram of electrolytic cell for the extraction of aluminum  

Ikz”u %  ¼18½ xSl izokLFkk esa 318 K ij N2O5 ds vi/kVu dh [2N2O5  4NO2+O2] 

vfHkfØ;k ds vkadMsa uhps fn, x, gSaA       ¼3½ 
   

 t/s 0 400 800 1200 1600 2000 2400 2800 3200 

10ଶ  x  

[N2O5] 

Mol L-1 

1.63 1.36 1.14 0.93 0.78 0.64 0.53 0.43 0.35 

¼i½ [ N2O5 ] ,oa t ds e/; vkjs[k [hafp,A  

 ¼ii½ vfHkfØ;k ds fy, v}Z vk;qdky dh x.kuk dhft,A  

    ¼iii½ vfHkfØ;k ds fy, osx fu;e D;k gS \ 

Ques. :  (18) The experimental data for decomposition of N2O5 in gas phase at 318 K are 
given below.  

  

t/s 0 400 800 1200 1600 2000 2400 2800 3200 

10ଶ x  
[N2O5] 
Mol L-1 

1.63 1.36 1.14 0.93 0.78 0.64 0.53 0.43 0.35 

 



 ¼i½ Plot [N2O5] against t  

  ¼ii½ Find the half life period for the reaction 

  ¼iii½ What is the rate law ?   

Ikz”u %  ¼19½ lkcqu dh iz{kkyu fØ;k felsy cuus ds dkj.k gksrh gS bl ij fVIi.kh dhft,A ¼3½ 

Ques. :  (19) Cleansing action of soap is due to micelle formations comment.   
 

Ikz”u %  ¼20½ fuEufyf[kr milgla;ksth ;kSfxdksa ds IUPAC uke fyf[k,    ¼3½  

¼i½ [Co (NH3)6]Cl3  

¼ii½ K2[PdCl4] 

¼iii½ [Pt(NH3)(H2O)Cl2]  

Ques. :  (20) Write the IUPAC names of the following co-ordination compounds.  

¼i½ [Co (NH3)6]Cl3  

¼ii½ K2[PdCl4] 

¼iii½ [Pt(NH3)(H2O)Cl2]  
 

Ikz”u %  ¼21½ fuEufyf[kr vfHkfØ;kvks dks lehdj.k nsdj le>kb, &    ¼3½ 

¼i½ ÝhMy ØIV vfHkfØ;k    

¼ii½ ls.Mes;j vfHkfØ;k  

Ques. :  (21) What Explain the following reaction’s by giving equation  

¼i½ Fridel Craft reaction    

¼ii½ Sandmeyer’s reaction 

 

Ikz”u %  ¼22½ ,d dkcZfud ;kSfxd ftldk v.kqlw= C4H10O PCl5 ls vfHkfØ;k dj ,d ;kSfxd 

(A) cukrk gSA KCN ls fØ;k dj ,d vU; dkcZfud ;kSfxd (B) cukrk gS tks ty 

vi?kVu djus ij ,d dkcZfud vEy (C) nsrk gSA  vfHkfØ;kvksa esa iz;qDr gksus okyh 

lHkh jklk;fud lehdj.k dks fyf[k,A        ¼3½ 

Ques. :  (22) An organic compound whose molecular formula C4H10O reacts with PCl5 

forms a compound (A) which also reacts with KCN to  form another organic 

compound (B) that given an organic acid (C) upon hydrolysis. Write all chemical 

equation for the reaction involved. 



Ikz”u %  ¼23½ ,d f”k{kd us fo|kFkhZ;ksa dks ,d fØLVy fn;k ml fØLVy esa mlds vo;oh d.k 

?ku ds dks.kksa ij vkSj Qydksa ij mifLFkr gS ;g fØLVy fdl izdkj ,dd dksf”kdk 

gksxkA ml ,dd dksf”kdk esa dqy fdrus ijek.kq gksaxsA f”k{kd vki esa dkSu dkSu ls ewY;ksa 

dk fodkl djuk pkgrs gSaA        ¼4½ 

Ques. :  (23) A teacher gave a crystal to the students. In that crystal , its components are 

present on the corners on the cube and on the faces , what type of unit cell will 

this crystal be ? How many atoms will be in that unit cell ? What values does the 

teacher want to develop in you ? 

vFkok  

 f”k{kd us fo|kfFkZ;ksa dks ,d fØLVy fn;k ml fØLVy ds vo;oh d.kksa dk 8oka fgLlk 

?ku ds dks.kksa ij rFkk ,d vo;oh d.k dsUnz ij fLFkr gS ;g fØLVy fdl izdkj dh 

,dd dksf”kdkvksa dk gksxkA ml ,dd dksf”kdk esa dqy fdrus ijek.kq gksaxs\ f”k{kd vki 

esa dkSu & dkSu ls ewY;ksa dk fodkl djuk pkgrk gSA 

The teacher gave a crystal to the students The 8th part of the component of that 

crystal is located at the corner of the cube and one component at the center of 

which type of unit cell will this crystal be ? How many atoms will be in that unit 

cell ? What values does the teacher want to develop in you ?  

Ikz”u %  ¼24½ ml xSYosfud lsy dks n”kkZb, ftlesa fuEu vfHkfØ;k gksrh gS & ¼1+2+1+1=5½ 

 Cr = -0.74V , Cd = -0.40V  

2Cr(s)+3𝐶𝑑௔௤
ଶା 2𝐶𝑟(௔௤)

ଷା  + 3Cd(s)  

(i) Lksy dk E0
cell Kkr dhft, & 

(ii) /kukRed bysDVªksM ij gksus okyh vfHkfØ;k fyf[k,A 

(iii) _.kkRed bysDVªksM ij gksus okyh vfHkfØ;k fyf[k,A  

Ques. : (24) Show the galvanic cell in which the following reaction takes place. 

 Cr = -0.74V , Cd = -0.40V  

2Cr(s)+3𝐶𝑑௔௤
ଶା 2𝐶𝑟(௔௤)

ଷା  + 3Cd(s)   

(i) Find the E0
cell  of cell. 

(ii) Write the reaction occuring on the positive electrode.  



(iii) Write the reaction occuring on the negative electrode.  

 

vFkok 

fuEu lsy dk 298 K ij uuZLV lehdj.k fyf[k, & 

Mg(s) | Mg(଴.଴଴ଵ ெ)
ଶା || 𝐶𝑢(଴.଴଴଴ଵ ெ)

ଶା  | Cu(s) 

Cu=0.34 V , Mg = -2.37 V 

¼i½ lsy dk e.m.f. Kkr dhft, 

¼ii½ /kukRed bysDVªksM ij gksus okyh vfHkfØ;k fyf[k,A 

(iii) _.kkRed bysDVªksM ij gksus okyh vfHkfØ;k fyf[k,A  

Write the Nernst equation of the following cell at 298 K  

Mg(s) | Mg(଴.଴଴ଵ ெ)
ଶା || 𝐶𝑢(଴.଴଴଴ଵ ெ)

ଶା  | Cu(s) 

Cu=0.34 V , Mg = -2.37 V 

(i) Find the e.m.f of cell  

(ii) Write the reaction occurring on the positive electrode 

(iii) Write the reaction occurring on the negative electrode  

Ikz”u %  ¼25½ a) fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft, &   ¼2+3=5½ 

(i) 2MnO-
4 + 5SO3

2- + 6H+  

(ii)  2CrO4
2- + 2H+  

 

b½ fuEu dk dkj.k fyf[k,  

¼i½ ftad dks laØe.k rRo ugha ekurs gSA 

¼ii½ /kkrqvksa ds ijek.koh;dj.k dh ,UFkSYoh mPp gksrh gSA  

¼c½ Cr3+ dk bysDVªkfud foU;kl fyf[k,A  
Ques. : (25) a)  Complete the following equations - 

(i) 2MnO-
4 + 5SO3

2- + 6H+  

(ii)     2CrO4
2- + 2H+  

b) Write the reason for the following  

(i) Zn is not considered a transition element. 



(ii) The enthalpies of atomization of the transition metals are high. 

c) Write the electronic configuration of Cr3+ 

vFkok  

a) fuEu vfHkfØ;kvks dks iw.kZ dhft, & 

(i) 2MnO-
4 + 5NO2

- + 6H+  

(ii)     CrO7
2- + 14H+ + 6e-    

b)fuEu dk dkj.k fyf[k, &  

(i)  Hg dk DoFkukad de gksrk gSA 

(ii) laØe.k rRo mÙke mRizsjd dk dk;Z djrs gSA  

c) Co2+ dk bysDVªkfuDl foU;kl fyf[k, &  
a)  Complete the following equations - 

(i) 2MnO-
4 + 5NO2

- + 6H+  
(ii)     CrO7

2- + 14H+ + 6e-  

b) Write the reason for the following 

(i) Mercury has lower boiling point 

(ii) Transition elements act as excellent catalysts 

    c) Write the electronic configuration of Co2+ 

Ikz”u %  ¼26½ a) fuEufyf[kr ;kSfxdksa dh lajpuk,sa fyf[k, &    ¼2+3=5½ 

¼i½ 4 Dyksjks isUVsu 2 vkWu 

¼ii½ C;wV 2 bu 1 vy 

b) fuEufyf[kr vfHkfØ;kvksa ds mRiknksa dks Kkr dhft, &   

¼i½ CH3COOH 
஻௥మ/௉
ሱ⎯⎯ሮ 

¼ii½ CH3CHO 
௅௜஺௟ுర
ሱ⎯⎯⎯ሮ 

¼iii½ CH3- C -CH3  
௓௡ିு௚
ሱ⎯⎯⎯ሮ 

   ||       lkUnz HCl  
  O 

Ques. : (26) a)  Write structures of following compounds - 

(i) 4 Chloro Pentan – 2 - one  

(ii)    But – 2 – ene – 1 - al 

c) Perdict the products of following reactions  



CH =CH - CHO 

CH =CH - CHO 

¼i½ CH3COOH 
஻௥మ/௉
ሱ⎯⎯ሮ 

¼ii½ CH3CHO 
௅௜஺௟ுర
ሱ⎯⎯⎯ሮ 

¼iii½ CH3 - C -CH3  
௓௡ିு௚
ሱ⎯⎯⎯ሮ 

  ||    Cons HCl  
  O 

vFkok 

a) fuEufyf[kr ;kSfxdksa ds IUPAC uke fyf[k, & 

(i) CH3 – C –CH2 – CH2 –CH2 –CH2 –CH3   
  ||     
  O 
(ii)  

 

 

b) fuEufyf[kr ifjorZu dSls djsaxs \ 

¼i½ ,FksukWy ls 3 gkbMªkWDlh C;wVsuy   

¼ii½ csUtksbd vEy ls m ukbVªkscsafty ,Ydksgy  

a) Write IUPAC name of the following compounds  

(i) CH3 – C –CH2 – CH2 –CH2 –CH2 –CH3   

  ||     

  O 

(ii)  

 

 

b) How to make the following conversion  
(i) Ethanol to 3 –hydroxy butanal 
(ii) Propanone to propene 
(iii) Benzoic acid to m – nitro benzyl alcohal 

 

&&&&&0000&&&&& 

 



izkn”kZ iz”ui= & II 

fo’k; & jlk;u “kkL= ¼202½ 

Subject – Chemistry 

Lke; & 3 ?k.Vs          iw.kkZad & 70 

Time – 3 hours            M.M. - 70 

funsZ”k % ¼1½ lHkh iz”u vfuok;Z gSA 

Instructions : (1) All Questions are compulsory. 

¼2½ iz”u Ø- 1 ls 5 rd vfry?kqmÙkjh; iz”u gSA izR;sd ij 1 vad vkcafVr gSA iz”u dk 

mÙkj 1 “kCn vFkok 1 okD; esa nhft,A  

(2) Question No. (1) to (5) are very short answer type questions. Each question 

carries 1 mark. Answer should be given word or 1 sentence. 

¼3½ iz”u Ø- 6 ls 10 rd izR;sd ij 2 vad vkcafVr gSA ¼”kCn lhek 30 “kCn½ 

(3) Question No. (6) to (10) carry 2 marks each. (word limit 30 words)  

¼4½ iz”u Ø 11 ls 22 rd izR;sd iz”u ij 3 vad vkcafVr gSA ¼”kCn lhek 50 “kCn½ 

(4) Question No. (11) to (22) carry 3marks each. (word limit 50 words)  

¼5½ iz”u Ø 23 ij 4 vad vkcafVr gSA ¼”kCn lhek 70 “kCn½ 

(5) Question No. 23 carries 4 marks. (word limit 70 words)  

¼6½ iz”u Ø 24 ls 26 rd izR;sd iz”u ij 5 vad vkcafVr gSA ¼”kCn lhek 100 “kCn½ 

(6) Question No. 24 to 26 carry 5 marks each. (word limit 100 words)  

 

Ikz”u %  ¼1½ AS2S3 lkWy ds Ldanu esa fuEu esa ls dkSu vf/kd izHkkoh gSA   ¼1½ 

Ques. :  (1) Which of the following is most effective in coagulation of  AS2S3  sol ? 

Ikz”u %  ¼2½ fn;s x, ;kSfxd dk IUPAC uke fyf[k,A      ¼1½ 

 

 

 

 

 

 

CH3 

COOH 



Ques. :  (2) Write the IUPAC name of the given compound. 

   

 

 

 

 

 

 

Ikz”u %  ¼3½ fuEufyf[kr dks vEyh;rk ds c<+rs gq, Øe esa O;ofLFkr dhft,A   ¼1½ 

  CH3COOH , HCOOH , ClCH2COOH , CF3COOH 

Ques. :  (3) Arrange the following in increasing order of acidic character.  

  CH3COOH , HCOOH , ClCH2COOH , CF3COOH 

 

Ikz”u %  ¼4½ SN2 vfHkfØ;k }kjk ,fYdy gSykbM dk mi;ksx djrs gq, lkbDyks gsfDly esFksukWy 

dk la”ys’k.k n”kkZb,A         ¼1½ 

Ques. :  (4) Show how will you synthesize cyclo hexylmethanol using an alkyl halide by 

an SN2 reaction. 

Ikz”u %  ¼5½ eksgu ds elwM+ks ls jDr L=ko gks jgk gS ] ;g chekjh fdl foVkehu dh deh ls gksrh 

gSA             ¼1½ 

Ques. :  (5) Mohan has bleading  gums deficiency of which vitamin causes this disease. 

Ikz”u %  ¼6½ iz;ksx”kkyk dk;Z ds fy, lkUnz ukbfVªd vEy ¼2½ dh ek=k ds vuqlkj 68% ukbfVªd 

vEy dk tyh; foy;u cukus esa mi;ksx fd;kA ;fn foy;u dk /kuRo 1.504 gmL-1 gS 

rks vEy ds bl uewus dh eksyjrk D;k gksxh \      ¼2½ 

Ques. :  (6) Concentrated nitric acid used in laboratory work is 68% nitric acid by mass in 

aqueous solution . What should be the molarity of  such a sample of the acid if 

the density of solution is  1.504 gmL-1  ?  

 

 

 

 

CH3 

COOH 



Ikz”u %  ¼7½ jklk;fud lehdj.k RP ds fy, fofHkUu lkUnzrkvksa In[R] rFkk le; ds e/; xzkQ 

fp= esa n”kkZ;k x;k gS &          ¼2½ 

      

 ¼i½ vfHkfØ;k dh dksfV Kkr dhft,A 

 ¼ii½ oØ dh <ky D;k gksxhA  

Ques. :  (7) For a Chemical reaction RP  the  variation in the concentration , In [R]  vs 

time (s) plot is given as shown in figure.   

    

 ¼i½ Predict the order of reaction.  

 ¼ii½ what is the slop of the curve ? 

Ikz”u %  ¼8½ dkj.k nhft, &          ¼2½ 

 ¼i½ QkWLQhu dh rqyuk esa veksfu;k vf/kd {kkjh; gSA 

 ¼ii½ “kq) gSykstuksa dh rqyuk esa varj gSykstu vf/kd fØ;k”khy gksrs gSA  

Ques. :  (8) Give reason -   

 ¼i½ Ammonia is more basic than phosphine. 

 ¼ii½ Inter halogens are more reactive than pure halogens. 

Ikz”u %  ¼9½ fuEufyf[kr vfHkfØ;k esa A vkSj B dh lajpuk crkb;sA    ¼2½ 

  𝐶𝐻ଷ𝐶𝐻ଶ𝐵𝑟
௄஼ே
ሱ⎯ሮ 𝐴

௅௜஺௟ுర
ሱ⎯⎯⎯ሮ 𝐵 

 



Ques. :  (9) Give the structures of A and B in the following reactions :  

        𝐶𝐻ଷ𝐶𝐻ଶ𝐵𝑟
௄஼ே
ሱ⎯ሮ 𝐴

௅௜஺௟ுర
ሱ⎯⎯⎯ሮ 𝐵 

 

Ikz”u %  ¼10½ gkWQeSu czksesekbM vfHkfØ;k dks fyf[k,A       ¼2½ 

Ques. :  (10) Write a note on Hoffmann’s bromamide reaction.  

 

Ikz”u %  ¼11½ jkmYV dk fu;e nhft,A vkn”kZ O;ogkj n”kkZus okys foy;u ds fy, vko”;d 

ifjfLFkfr;k¡ fyf[k,A          ¼3½ 

Ques. :  (11) State Raoult’s law write the conditions necessary for a  solution to show 

ideal behavior. 

Ikz”u %  ¼12½ izFke dksfV dh vfHkfØ;k ds fy, osx fLFkjkad 80s-1 gSA vfHkfØ;k dks viuh 

izkjafHkd lkanzrk ls 1@18 ok¡ Hkkx jg tkus esa fdruk le; yxsxk \   ¼3½ 

Ques. :  (12) The rate constant for a first order reaction is 80s-1  How much time will it 

take to reduce the initial concentration of the reactant to its 1/18th value ?  

Ikz”u %  ¼13½ fuEufyf[kr ifjfLFkfr;ksa esa D;k izs{k.k gksaxs \     ¼3½ 

 ¼i½ tc izdk”k fdj.k iqat dksykWbMh lkWy esa ls xeu djrk gSA 

 ¼ii½ ty;ksftr Qsfjd vkWDlkbM lkWy esa NaCl oS|qr vi?kVu feyk;k tkrk gSA 

  ¼iii½ dksykWbMh lkWy esa ls fo/kqr /kkjk izokfgr dh tkrh gSA 

Ques. :  (13) What do you observed on the following cordition.  

 ¼i½ When a beam of light is passed through a colloidal sol.  

  ¼ii½ an electrolyte NaCl is added to  hydrated ferric oxide sol. 

   ¼iii½ electric current is passed through a collided sol ?   

Ikz”u %  ¼14½ v;Ldksa ls /kkrqvksa ds fu’d’kZ.k esa fuEu esa izR;sd dh Hkwfedk dks le>kb,A ¼3½ 

¼i½ fudy ds fu’d’kZ.k esa CO 

¼ii½ flYoj ds fu’d’kZ.k esa Zn 

  ¼iii½ dkWij ds fu’d’kZ.k esa flfydk 

Ques. :  (14) Explain the role of each of the following in the extraction of metals from 
their ores : -   
 ¼i½ CO in the extraction of nickel  

  ¼ii½ Zinc in the extraction of silver 
   ¼iii½ silica in the extraction of copper.  



Ikz”u %  ¼15½ fuEufyf[kr dh lajpuk,¡ cukb;s &     ¼3½ 

 ¼i½ XeF4   ¼ii½ H2S2O7    ¼iii½ ClF3 

Ques. : (15) Draw the structures of the following -  

 ¼i½ XeF4    ¼ii½ H2S2O7    ¼iii½ ClF3  

Ikz”u %  ¼16½ izR;sd dk ,d mnkgj.k nsrs gq, fuEufyf[kr esa mi lgla;kstu ;kSfxdksa dh Hkwfedk 

dh laf{kIr foospuk dhft,A        ¼3½ 

¼i½ tSo iz.kkfy;k¡ 

¼ii½ vkS’k/k jlk;u 

  ¼iii½ fo”ys’k.kkRed jlk;u  

Ques. :  (16) Discuss briefly giving example in each case the role of coordination 

compounds in :  

 ¼i½ Biological systems   

  ¼ii½ Medicinal Chemistry 

   ¼iii½ Analytical chemistry 

 

Ikz”u %  ¼17½ fuEu vfHkfØ;k dks iw.kZ dhft,A      ¼3½ 

¼i½ (CH3)3 CBr + KOH ,sFksukWy
m"ek

 

¼ii½ C6H5ONa+C2H5Cl   

¼iii½ CH3CH2CH = CH2 + HBr 
ijkWDlkbM
ሱ⎯⎯⎯ሮ  

Ques. : (17) complete the following reaction    

 ¼i½ (CH3)3 CBr + KOH ethanol

heat
 

  ¼ii½ C6H5ONa+C2H5Cl   

   ¼iii½ CH3CH2CH = CH2 + HBr 
Peroxide
ሱ⎯⎯⎯⎯ሮ  

Ikz”u %  ¼18½ fuEu vfHkfØ;kvksa esa iz;qDr vfHkdeZdks ds uke crkb, &  ¼3½ 

 ¼i½ izkFkfed ,sYdksgy dk dkcksZfDlfyd vEy esa vkWDlhdj.k  

 ¼ii½ QhukWy dk 2]4]6 Vªkbczkseks QhukWy esa czksehuuA 

  ¼iii½ C;wVsu &2 & vkWu ls C;wVsu& 2&vkWyA 

 



Ques. :  (18) Name the reagents used in the following reactions - 

 ¼i½ oxidation of primary alcohol to carboxylic acid  

  ¼ii½ Bromination of phenol to 2 , 4 , 6 tri bromophenol 

   ¼iii½ Butan – 2 – one to butan – 2 -  ol   

Ikz”u %  ¼19½ fnYyh ljdkj us ikWyhFkhu cSx ds iz;ksx ij izfrca/k yxk;kA nqdkunkjksa us tSo 

fuEuh—r dkxtksa ls cus cSx dk iz;ksx izkjaHk fd;k] tcfd dqN NksVs nqdkunkj ikWfyFkhu 

cSax dk iz;ksx djus yxs tks fd irys o jaxghu FksA 

 ¼i½ gesa ikWfyFkhu dks izfrcaf/kr D;ksa djuk pkfg, \ dqN O;fDr ikWfyFkhu ds cnys tSo 

fuEuh—r cSax dk mi;ksx djrs gSaA os fdu ewY;ksa dks iznf”kZr djrs gSaA    

 ¼ii½ ikWfyFkhu cSax irys vkSj jaxghu D;ksa cuk;s tkrs gSaA bldk izca/k ge dSls djsaA 

 ¼iii½ ikWfyFkhu dk ,dyd D;k gSA D;k ;g le cgqyd ;k lg cgqyd gSA      ¼3½ 

Ques. :  (19) Government banned use of polythen bags in delhi. Shop keepers have started 

using bags made up of biodegradable paper. but some small  shopkeeper are still 

using polythens bags but these are thinner and colourless.  

¼i½ Why should we ban polythene ? what values are possessed by people not 

using polythene and use biodegradable materials for bags ?  

¼ii½ Why are polythens bags made thinner and colourless ? How can we manage 

them ? 

¼iii½ What is/are monomer(s) polyethen ? is it homo or  co – polymer ?   

Ikz”u %  ¼20½ Hkkjr esa vf/kdka”k yksx elkysnkj Hkkstu ,oa pkV dk iz;ksx djrs gSA ftlesa vEy 

dh izpqjrk gksrh gSA vEuy dh vf/kdrk vek”k; esa tyu ,oa nnZ mRiUu djrh gSA 

vEy dh vf/kdrk dks izfrvEy }kjk mnklhuh—r fd;k tkrk gSA  

¼i½ lksfM;e gkbMªkstu dkcksZusV vPNk izfr vEy ugha gS D;ksa \    

 ¼ii½ lksfM;e gkbMªkstu dkcksZusV dh rqyuk esa /kkfRod gkbMªkDlkbM D;ksa vf/kd mi;qDr 

gSA D;k ;g vf/kd vEyh;rk ds mipkj ds fy, mi;ksxh gS\  

 ¼iii½ tad QwM ugha ysus okys yksx fdu ewY;ksa dks iznf”kZr djrs gSa\    ¼3½ 

Ques. :  (20) In India large number of people take spicy food and chat etc. Which contain 

a lot of acid. Excess of acid in the stomach causes invitation and pain. Antacids 

are commonly used for neutvalization of excess of acides.  



¼i½ Why is sodium hydrogen carbonate not good antacid.  

¼ii½ Why are metal hydroxides better than sodium hydrogen carbonate ? Do  these 

treet the cause of hyperacidity ? 

¼iii½ What are the values possessed by people not taking junk food ?  

Ikz”u %  ¼21½ fuEufyf[kr esa QkWLQksjl dh vkWDlhdj.k voLFkk D;k gksxhA    ¼3½ 

¼i½ H3PO3    ¼ii½ Ca3P2    ¼iii½ Na3PO4   

Ques. :  (21) What are the oxidation state of phosphorus in the following.  

¼i½ H3PO3    ¼ii½ Ca3P2    ¼iii½ Na3PO4  

Ikz”u %  ¼22½ U;wfDy;kslkbM rFkk U;wfDy;ksVkbM esa D;k varj gksrk gSA     ¼3½ 

Ques. :  (22) What is the difference between a nucleoside and a nucleotide ? 

 

Ikz”u %  ¼23½ fn, x, nks’kiw.kZ fØLVy dk ijh{k.k dh x, &      ¼4½ 

 

fuEufyf[kr iz”uksa ds mÙkj nhft, &  

¼i½ fØLVy ds }kjk fdl izdkj dk jlferh;dj.k nks’k n”kkZ;k gS A 

¼ii½ bl nks’k ds }kjk fØLVy dk /kuRo dSls izHkkfor gksxk \  

¼iii½ fdl izdkj dk vk;fud inkFkZ bl nks’k dks n”kkZ;sxkA  

¼iv½ bl nks’k dks n”kkZus okys fØLVy dk ,d mnkgj.k nhft,A  
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Ques. :  (23) Examine the given defective crystal  

  
Answer the following questions 

¼i½ What type of stoichiometric defect is shown by the crystal ? 

¼ii½ How is the density of the crystal affected by this defect ? 

¼iii½ What type of ionic substance show such defect ? 

(iv) Give one example of crystal showing this defect ?  

vFkok  
  

fn, x, nks’kiw.kZ fØLVy dk ijh{k.k dhft, &  
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fuEufyf[kr iz”uksa ds mÙkj nhft, &  

¼i½ fØLVy ds }kjk fdl izdkj dk jlferh;dj.k nks’k n”kkZ;k gS A 

¼ii½ bl nks’k ds }kjk fØLVy dk /kuRo dSls izHkkfor gksxkA  

¼iii½ fdl nks’k dks fdl izdkj dk vk;fud inkFkZ bl nks’k dks n”kkZ;sxkA  

¼iv½ bl nks’k dks n”kkZus okys fØLVy dk ,d mnkgj.k nhft,A  

Examine the given defective crystal  

 

Answer the following questions 

¼i½ What type of stoichiometric defect is shown by the crystal ? 

¼ii½ How is the density of the crystal affected by this defect ? 

¼iii½ What type of ionic substance show such defect ? 

(iv) Give one example of crystal showing this defect ?  

Ikz”u %  ¼24½ fuEu vfHkfØ;k dks iw.kZ dhft, &      ¼5½ 

(i)C6H5CHO + CH3CH2CHO  𝑁𝑎𝑂𝐻ሬሬሬሬሬሬሬሬሬሬሬሬ⃗    

(ii) CH3COCH2COOC2H5 
(௜)ே௔஻ுସ

(௜௜)ுା
    

(iii)   
஼௥ைయ

     ?   

(iv) 
?

         
CHO OH2 

OH 

A+
 

A+
 

A+
 

A+
 A+

 

B-
 B-

 

B-
 B-

 

B-
 A+

 

B-
 

A+
 

A+
 A+

 

B-
 



(v) ? 
(௜)ைయ

(௜௜)௓௡|ுమை
       

Ques. :  (24) Complete the following reaction  

(i) C6H5CHO + CH3CH2CHO  𝑁𝑎𝑂𝐻ሬሬሬሬሬሬሬሬሬሬሬሬ⃗    

(ii) CH3COCH2COOC2H5 
(௜)ே௔஻ுସ

(௜௜)ுା
   

(iii)    
஼௥ைయ

     ?   

(iv)   
?

         

(v)    ? 
(௜)ைయ

(௜௜)௓௡|ுమை
       

vFkok  

fuEu vfHkfØ;k dks le>kb, & 

¼i½ jkstsuseq.M vip;u 

¼ii½ dSfutjks vfHkfØ;k  

¼iii½ gsy osykMZ tsfYuldh (HVZ) vfHkfØ;k 

¼iv½ DyhesUlu vip;u 

¼v½ ifdZu vfHkfØ;k  

Explain the following reactions 

(iv) Resenmund reduction  

(v) Cannizzaro’s reaction 

(vi) Hell–volhard–Zelinsky reaction 

(vii) Clemmensen Reduction 

(viii) Parkin reaction  

Ikz”u %  ¼25½ a) fuEu dks crkb;s       ¼5½ 

¼i½ laØe.k /kkrq;sa vf/kd la[;k esa ladqy ;kSfxd curk gSA  

¼ii½ laØe.k /kkrq ds fuEu vkWDlkbM {kkjh; gksrs gSa tcfd mPp vkWDlkbM mHk;/kehZ ;k 

vEyh; gksrs gSaA  

O 

CHO OH2 

OH 

 2 

2 



¼iii½ Cr3+ | Cr2+ dh rqyuk esa Mn3+ | Mn2+  ;qXe ds fy, E0 dk eku mPp /kukRed 

(+1.57V) gSA 

b½ ySFksukbM ,oa ,fDVukbM esa ,d lekUrk rFkk ,d vlekurk fyf[k,A 

Ques. : (25) a)  Account for the following 

(i)Transition metals form large number of complex compounds. 
(ii) The lowest oxide of transition metal is basic where as the highest oxides is 
amphotric or acidic. 
(iii) E0 value for the  Mn3+ | Mn2+  couple is highly positive (+1.57V) as 

compave to Cr3+ | Cr2+  
b) Write one similarity and one difference between the chemistry of lanthanoid and 

actinoid element 
vFkok  

d) (i) P CykWd rRoksa dh rqyuk esa laØe.k  rRoksa dh ifjorhZ vkWDlhdj.k voLFkk fdl izdkj 

fHkUu gksrh gSA  

(ii) Cu+ vkSj Cu2+ vk;uksa es dkSu lk vk;u tyh; fofy;u esa vLFkk;h gS vkSj D;ksa \ 

(iii)  Cr2O7
2- vk;u dk ukjaxh jax {kkj ds lkFk fØ;k djus ij ihys jax esa ifjofrZr 

gksrk gSa  D;ksaA 

e) vfHkfØ;kvksa dks iw.kZ dhft, &  

(i) Cr2O7
2- + Sn2+ + H+  

(ii) MnO4
- + Fe2+ + H+ ` 

(a) (i) How is the variability in oxidation state of transition metals 

different from that of the P-block elements ? 

(ii) Out of Cu+ and Cu2+ which on is unstable in aqueous solution 

and why. 

(iii) Orange colour of  Cr2O7
2- on  changes to yellow when treated 

with an alkali why ? 

(b) Complete the reaction  

(i) Cr2O7
2- + Sn2+ + H+  

(ii) MnO4
- + Fe2+ + H+ ` 



Ikz”u %  ¼26½ a) Ni (NO3)2 ds ,d foy;u dk IySfVue bysDVªksMksa ds chp 5-0 ,sfEi;j dh 

/kkjk izokfgr djrs gq, 30 feuV rd fo|qr vi?kVu fd;k x;kA rks dSFkksM ij 

fufdy dh fdruh ek=k tek gksxh \      ¼5½ 

 ¼Ni dk ijek.kq Hkkj ¾58.9U ½ 

b) fuEufyf[kr esa fo|qr vi?kVu ds mRikn Kkr dhft, &  

¼i½ flYoj bysDVªksM ds lkFk AgNO3 dk tyh; fofy;uA  

¼ii½ IySfVue bysDVªksM ds lkFk H2SO4 dk tyh; fofy;uA  

Ques. : (26) a)  A solution of  Ni (NO3)2 is electrolysed between platinum 
electrodes using a current of 5.0 amperes for 30 minuts. What mass of 
Ni is deposited at the cathode ? (at wt of Ni = 58.9U) 

 b) Predict the products of electrolysis in each of the following  

(iii) An aqulous solution of AgNO3 with siliver electrodes.  

(iv)A dilute solution of  H2SO4 with platinum electrodes. 

vFkok  

a) 250C ij fuEufyf[kr lsy dk emf Kkr dhft,A 

Fe | Fe2+ (0.001m) || H+ (0.01m) | H2(g)(1 bar) 

 E0 (Fe2+|Fe ) = -0.44V 

 E0 (H+|H2 ) = -0.00V 

b) fuEufyf[kr vip;u ds fy, fdrus vkos”k dh ek=k vko”;d gksxhA   

¼i½ Al3+ ds 1 eksy ls Al \  

¼ii½ 1 eksy MnO4
- ls Mn2+  

c) Calculate emf of the  following cell at 250C 

Fe | Fe2+ (0.001m) || H+ (0.01m) | H2(g)(1 bar) 

 E0 (Fe2+|Fe ) = -0.44V 

 E0 (H+|H2 ) = -0.00V 

d) How much charge is required for the following reductions ? 
(iv) 1 mol of Al3 to Al ?  
(v) 1 mol of MnO4

- to Mn2+ ? 
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